
  

 Sec 3 WA2 Mock Paper   

 Duration: 57 minutes 
 

 

S3EM 

MathScape Learning  1 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

  

38 



S3EM  

MathScape Learning  

 2 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

  



S3EM  

MathScape Learning  

 3 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

  



S3EM  

MathScape Learning  

 4 

7 Louis invests in an account that pays an interest of 2.2% per year compounded half-yearly, for 

3 years. At the end of 3 years, there is $4645.95 in that account.  

 Calculate the total amount of interest Louis earned over the 3 years.  

  

 

 

 

 

 

 

 

       Answer 

$  ……………………….. 

 

 

 

 

 

 

 

 

[2] 

8 (a) Show that 32024 + 32024 + 32024 is a multiple of 27. 
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 (b) 
Simplify 

(9𝑎−5𝑏)
−
1
2

𝑏−1
÷ (𝑎0𝑏3)−

2

3 , giving your answer in positive index form.  

 

 

 

 

 

 

 

     

 Answer  …………………………… 
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